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FINFRE=18.4, F)FtE=5.4, ZT1B)IIFHE=28.6, AF)IIFE=136,
REF)IRE=16.5, FIF)I5E=18.5 h4t)IFE=5.6, 1&8E)FE=116,
ERTIFRE=7.6, Et)IFE=7.5, \WWA)IIFE=5.7, BIA)IIFE=9.9,
GEREENEE JFR)IRE=6.2, ABIFE=9.5 ME)IIFE=8.4, 88A)IIHig%=8.6,
871 5RiE=5.4, #3%)IIFRE=9.4, BR)IFE=6, K&EF =57,
#oK HENIFE=127, EA)IFE=56, \EIL)IIFE=66, E&)IFE=76,
K AJFE=8.5 NR)IFE=6.2
EH ek E(FI|708=(5, 36.1), = I 7s=(9, 205),
wase SIS s= (5, 7.6)
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FINFRE=14.7, FNFE=4.3, =12 )IIFE=22.8, A%)IFE=108,
FEE)IRE=13.2, FH)IRE=148, 4t)IE=4.4, BB FR15=9.2,
=AT)GRi=6.1, {EH)1FRE=6, \LE)IIFiE=4.6, FIA)IFE=7.9,
FRIBREEKEE |FRIRE=4.9, BE)IFE=7.6, XN4W@)IIFE=6.7, kA)IIjHH=6.8,
R 8717 E=4.3, W& )IIFRiE=7.5, BEA)IFE=4.8, KEFJIIjiH=4.6,
ok HEIIFE=10.1, ES)IFE=44, N\EILIFE=52, B8)IFE=6,
KAFE=6.8, ;NE)IIFH=4.9
. EF)IFE=(5, 23.1), =ZTIRJIFE=(5, 18.5),
LEE &R F=(5. 6.1)
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